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1 | _1006.9 1 45 9.5 1.9 12 SSW g sl 60 L0 - - 0| 1.5 | 1.51 0.6 40 0.9 ] 0.6 1
2 | 1001.8 | 7.6 |14.2 | 2.6 14 Si__10 si - - - - - 120.0 50 )
3 997.1 | 8.6 116.1 | 2.9 12 S5W 8 sswl - - - - ~ 120.0 /77 3
4 996.7 | 7.9 |13.1 | 4.1 16 Wsw 9 N - - - - - 102 1.8] 0.7 V5 L1 1= 4
5 999.6 | 6.5 | 9.8 | 3.1 15 WSW B w001 0.0 0.0 - ~7120.0 50 ) 5
6 997.6 | 7.0 |11.6 | 2.7 15 WSW 7 W - - - - - 7.0 /1 6
7 996.0 | 4.5 | 7.0 | 2.4 15 NNW 9 WY 6.0 20| 1.5| - - |40 0.3 25 0.3 e = 7
8 995.1 | 3.8 1 7.9 |-0.7 20 WNW| 11 W 0601l 0.0 00| - - |25.0 35 e g
9 998.8 | 4.2 1 9.2 1 0.8 15 WNW| 10 WsW|_ 0.5 0.5 0.5 - 0 130.0 50 g
10 [ 1000.1 | 45 7.3 0.2 18 WsWl 10 W 0.0 0.0 0.0/ - -~ [30.0 35 ® 10
11 998.3 | 5.2 1 0.6 | 2.3 18 NNW il | 3.5 1 1.5] 0.5 - — [10.0 30 ® 11
12| 995.5 ! 1.3 4.0 -0.1 15 NNW| 10 N 20.5 | 3.01 101 - 1| 1.61 7.6 0.3 6 7.3 3 le % & = i2
13| 993.3| 2.5 | 8.3 0.3 25 W 14 W 001 00 00 0 0l 2.5 0.5 30 0.5 ° 13
4| 9952 | 1.9 6.9 |-2.1 21 W12 WNW_ 0.0 0.0 0.0 1 1125.0 30 ® X % 4
15! 997.8 1 2.3 1 6.5 |~0.3 16 WSWl_ 10 W 0.5 0.5 0.5 0 1103 19| 19 30 0 le % x = 15
16 | 1000.1 1 271 6.9 [-0.1 11 N 7 NNW,_ 1.0 | 0.5 0.5 | - - {20 18 50 1.8 ° 16
17 996.9 | 2.1 | 6.5 |~2.5 12 g 7 SSW|_ 465 251 0.5 - - 130! 0.5 50 0.5 7
18! 079.6 1 3.6 | 8.5 0.6 36 Wswl 16 Wl 18.5 | 4.0 1.0 - =~ 1041 36| 2.6 5 11 ler = 18
19! 986.51-0.9 2.3 |-3.9 38 SWl 75 Wi 20| 1.0 05| - 0 110.0 30 % 19
201 995.0 1 1.3 | 4.4 [-3.4 33 Nl 21 W 21.0 1 5.0 3.0 121 141301 0.6 10 0.6 ® X % & 20
911 1000.0 | 0.2 1.3 [-0.5 8 SW 7 W[ 451 L5 0.5 13 41 0.2110.0] 9.0 5 1.0] 9.0 %X %= 21
22 1 10017 | 0.1 ] 1.1 | -1.0 1 N 7 Nl 13.5 | 3.0 | 1.0 21 12 0.4 110.0 | 6.5 10 3.5 | 6.5 %A= 22
93 | 997.1 | 0.4 | 4.4 |-1.7 23 Vi W 45 2.0 0.5 18 1| 1.h | 3.9 0.5 20 3.4 0.5 @ % %= 23
24 | 992.0 | 4.8 -1.6 |=6.7 34 WNU 16 S¥[ 3.5 2.0 0.5 24 | 121 1.2 1 38 0.3 10 3.4 0.3 % 24
25 | 999.7 |~0.6 | 2.9 |-5.4 31 NNY! 23 N8| 3.5 1 2.0 0.5 28 9104 221 1.4 V4 | 0.3 1 0.8 1.4 |% 25
26 | 1002.1 | 0.4 | 6.1 | 6.0 7 SWi 11 ssW - - - 21 | = |30.0 40 : 26
27 | 1005.6 | 3.6 | 7.5 1=0.1 14 WSW 9 SSH| = - - 171 - 200 50 27
28 | _1006.1 | 3.4 | 8.3 1-..5 12 SSW 9 SSW 0.5 0.5 0.5 15 |~ 120.0 100 ® 28
20 | 999.0 ) 3.8 | 5.4 | 2.2 14 N 9 N| 44.5 1 3.5 1.0 0] - o3l 75170 Vb 0.5 0 le= 79
30 | 1000.0 | 4.4 | 5.9 | 3.6 i8 N 11 N 851 25| 1.0 5 | - |10.0 15 ° 30
31| 1001.4 | 5.3 9.5 | 1.6 19 ¥y 11 WSW, 0.0 0.0 0.0 01 - [20.0 35 ° 31
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